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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	378
	,
	9
	(
	6
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	218
	,
	3
	(
	7
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	74
	,
	45
	(
	6
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	349
	,
	7
	(
	8
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	128
	,
	4
	(
	3
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	53
	,
	94
	(
	9
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	29
	,
	41
	(
	5
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	446
	,
	4
	(
	7
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	115
	,
	6
	(
	8
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	3
	,
	609
	(
	3
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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Division d’un nombre décimal par un nombre entier.

Pose et effectue la division suivante.
	436
	,
	5
	(
	7
	=
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Donc : 

	Dividende
	=
	Diviseur
	x
	quotient
	+
	reste
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